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June 03, 2016

Jun 3­14:09

//country//city[population > 1000000][5]

//country/descendant::city[population > 1000000][5]

/descendant::city[population > 1000000][5]

/descendant::city[population > 1000000][position() <= 10 ]

Jun 3­14:33

//country/descendant­or­self::*/city[population > 1000000][5]
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Jun 3­14:39

//country[@area>1000000]/descendant::city[population > 1000000]//country[@area>1000000]/descendant::city[population > 1000000]//country[@area>1000000]/descendant::city[population > 1000000]

(//country[@area>1000000]/descendant::city[population > 1000000])[5]

let $x := //country[@area>1000000]/descendant::city[population > 1000000]

return $x[5]
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